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J Question # 1
The corresponding formula of logic is

~(pUg)=~pU-~q
p q | ~p | ~q | PUd| ~(pUq) | ~pPU~Q
T T F F T F F
T F F T F T T
F T T F F T T
F F T T F T T

The last two columns of the above table showsthat ~(pUq) =~ pU~q
and hence (AC B)¢= ACE BC.

H Question # 2
The corresponding formula of logic is

(pUq)Ur=pU(qUr)

plg|r|pPYad|qur | (pUqg)Ur | pU(qUr)
T/ T|T T T T T
T|T|F T T T T
TIF|T T T T T
TIF|F T F T T
F|T|T T T T T
F|T]|F T T T T
FIF|T F T T T
FIF|F| F | F F F
The last two columns of the above table showsthat (pUq)Ur =pU(qUr)

and hence (AE B)E C= AE (BE Q).

D Question # 3
The corresponding formula of logic is

(pUqg)Ur=puU(qUr)
pUq | qUr | (pUqg)Ur | py(
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The last two columns of the above table shows that (p Uq
and hence (ACB)CC=AC(BCC).

Ur=pU(qUr)
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B Question # 4
AE (BCC)=(AEB)C(AEC)
The corresponding formula of logic is
pU(qUr)=(pUq)U(pUr)

plqg|r|aur|pug| pur| pU(Ur) | (pUqg)U(pUr)
TIT[T] T T T T T
TITIE|] F T T T T
TIF[T|] F T T T T
TIF[F|] F T T T T
FIT[T] T T T T T
FIT|F|] F T F F F
FIF[T] F F T F F
FIF|F|] F F F F F

The last two columns of the above table showsthat pU(qUr) =(pUq)U(pUr)
and hence AE (BCC)=(AE B)C(AEC).
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